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Introduction



About Paper 1


Paper 1 Option 1H: Democracies in Change: Britain Transformed 1918–97, requires a breadth of knowledge of a historical period, as well as a knowledge of the historical debate around the impact Thatcher’s governments (1979–90) had on Britain 1979 to 1997. Paper 1 tests you against two Assessment Objectives: AO1 and AO3. AO3 is a new objective for this specification.


AO1 tests your ability to:





•  organise and communicate your own knowledge



•  analyse and evaluate key features of the past



•  make supported judgements



•  deal with concepts of cause, consequence, change, continuity, similarity, difference and significance.





On Paper 1, AO1 tasks require you to write essays from your own knowledge.


AO3 tests your ability to:





•  analyse and evaluate interpretations of the past



•  explore interpretations of the past in the context of historical debate.





On Paper 1, the AO3 task requires you to write an essay which analyses the work of historians.





•  At A Level, Paper 1 is worth 30 per cent of your qualification. At AS Level Paper 1 is worth 60 per cent of your qualification. Significantly, your AS grade does not count towards your overall A Level grade. Therefore, you will have to take this paper at A Level in order to get the A Level qualification.





Structure


At AS and A Level, Paper 1 is structured around four themes and one historical interpretation. The exam is divided into three sections, which relate to different aspects of your course:






	Aspect of the course

	AO

	Exam






	Theme 1: A changing political and economic environment, 1918–79

Theme 2: Creating a Welfare State, 1918–79


Theme 3: Society in transition, 1918–79


Theme 4: The changing quality of life, 1918–79



	AO1

	Section A and Section B






	Historical interpretation: What impact did Thatcher’s governments (1979–90) have on Britain, 1979–97?

	AO3

	Section C







The exam


The Paper 1 AS exam and A Level exam each last for 2 hours and 15 minutes, and are divided into three sections.


Section A and Section B test the breadth of your historical knowledge of the four themes:





•  Section A requires you to write one essay from a choice of two. Section A questions will usually test your knowledge of at least a decade. You should spend around 35 to 40 minutes on Section A, which includes making a brief plan.



•  Section B requires you to write one essay from a choice of two. Section B essays usually tests your knowledge of a third of the period 1918–79, around 23 years. You should spend around 35 to 40 minutes on Section B, which includes making a brief plan.





Section C tests your knowledge of the debate around the impact of Thatcher’s governments on Britain:





•  Section C requires you to answer one compulsory question relating to two extracts from the work of historians. Questions will focus on the years 1979–97. You should spend around 35 to 40 minutes on Section C, and take an additional 20 minutes to read the extracts and make a plan.





The AS questions are of a lower level in order to differentiate them from the A Level questions. You will find examples of AS and A Level questions throughout the book.


How to use this book


This book has been designed to help you to develop the knowledge and skills necessary to succeed in this exam. The book is divided into five sections – one for each of the four themes in depth, and one for the historical interpretation. Each section is made up of a series of topics organised into double-page spreads. On the left-hand page, you will find a summary of the key content you need to learn. Words in bold in the key content are defined in the glossary. On the right-hand page, you will find exam-focused activities. Together, these two strands of the book will take you through the knowledge and skills essential for exam success.


There are three levels of exam-focused activities:





•  Band 1 activities are designed to develop the foundational skills needed to pass the exam. [image: ]




•  Band 2 activities are designed to build on the skills developed in Band 1 activities and to help you achieve a C grade. [image: ]




•  Band 3 activities are designed to enable you to access the highest grades. [image: ]






Each section ends with an exam-style question and model high-level answer with commentary. This should give you guidance on what is required to achieve the top grades. [image: ]





1 A changing political and economic environment, 1918–79



Britain in 1918


The First World War ended in November 1918. Britain had lost over 750,000 men, with 2,273,000 wounded, and owed £1 billion, mainly to the USA. The war had a huge impact on the political, economic and social landscape and would significantly influence post-war developments.


Political effects


Britain in 1918 was governed by a wartime coalition of Liberals and Conservatives, led by David Lloyd George. There had not been a general election since 1910, so the biggest question was whether the coalition would continue. A new election was scheduled for December 1918.


Representation of the People Act


The Representation of the People Act, passed in February 1918, had trebled the electorate from 7.7 million to 21.4 million out of a total population of approximately 41.6 million:





•  All women over the age of 30 had been given the right to vote – over 8 million in number.



•  All men previously unenfranchised were given the vote – about 6 million in total.





Political parties


Conservatives


The Conservative Party had widened its appeal during the previous century as the party mainly of the middle and upper classes but with a substantial working-class vote – possibly as many as 25 per cent of the working classes voted Conservative. It had been part of the wartime coalition formed by Liberal Prime Minister Herbert Asquith since 1915. However, as a result of electoral success in the 1918 and 1922 elections, many Conservatives felt the party was strong enough to govern independently.


Liberals


While Lloyd George had led the wartime coalition from 1916, the Liberal Party itself was deeply divided for various reasons:





•  Lloyd George was the Prime Minister and leader of those Liberals who supported the coalition while Asquith remained official leader of the party itself.



•  Many opposed the manner in which Lloyd George had defeated Asquith as Prime Minister in 1916, which they saw as devious and underhand. The result was a split in the party between supporters of Lloyd George and Asquith. Asquith remained leader of the party itself until October 1926, when Lloyd George took over.



•  Supporters of Asquith felt Lloyd George’s wing of the party had become too close to the Conservatives in policy. In particular, they had opposed conscription during the war.





Labour


The Labour Party had been created in the late nineteenth century to represent the interests of the trade union movement, from which it received most of its finance. The trade unions saw the Labour Party as the means by which workers’ pay and conditions could be improved through the work of Labour MPs in parliament.


The Labour Party was expected to gain more MPs through the growth of the electorate.


1918 election


The election saw an overwhelming victory for the wartime coalition – Conservatives and pro-coalition Liberals won 459 seats, with ten other MPs supporting them. The largest single opposition party was Labour, with 57 MPs.


The new government, however, faced significant problems.


Maintaining unity


The Conservatives held most seats among coalition supporters – at least 332. Clearly Lloyd George was dependent on their support, which could be withdrawn if they wished to form a government of their own.


In addition, many Conservatives disliked Lloyd George’s use of the honours system by which he openly sold peerages and knighthoods to wealthy supporters to keep the Liberals in power.
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[image: ] Spot the mistake      [image: ]


Look at the following sample exam question and a paragraph written in answer to this question. Why does this paragraph not get into level 5? Once you have identified the mistake, rewrite the paragraph so that it displays the qualities of level 5. The mark scheme on page 111 will help you.




How far do you agree that the political landscape was transformed between 1918 and 1939?
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The political landscape was transformed after 1918. In 1918, Britain was governed by a coalition of Liberals and Conservatives, led by David Lloyd George. Britain did not usually have coalition governments so the big issue was whether this one would continue in peacetime. The Representation of the People Act, passed in February 1918, had trebled the electorate from 7.7 million to 21.4 million: it had given the vote to all women over the age of 30 – over 8 million in number – and all men previously unenfranchised through lack of property qualifications – about 6 million in total. Many Conservatives wanted to see the end of the coalition. They felt they were strong enough as a party to govern themselves.
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[image: ] Complete the paragraph


Look at the following sample exam question and a paragraph written in answer to this question. The paragraph contains a point and specific examples, but lacks a concluding analytical link back to the question. Complete the paragraph adding this link in the space provided.




How far was the political landscape in the period 1918 to 1939 transformed by the Representation of the People Act 1918?
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The Representation of the People Act was passed in February 1918 and trebled the electorate from 7.7 million to 21.4 million. In particular, it gave the vote to 8 million women over the age of 30 and 6 million men previously unable to vote through lack of property qualifications. The big issue was of course which party this new electorate would vote for. The Conservatives had opposed votes for women while the Liberals had formed the government which had fought the suffragette campaign. Labour on the other hand had supported female enfranchisement, while many of the new male electorate, coming from the poorer classes of society, might be expected to vote Labour. Overall therefore…


___________________________


___________________________
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Changing party fortunes, 1918–31



The main reason for the Conservatives bringing down the wartime coalition was because they no longer needed Lloyd George. They felt strong enough to win elections and govern on their own.


Impact of the 1922 election


The election of November 1922 saw the Conservatives win an overall majority. However, it was the other two major parties for which the results were significant.


Labour Party


The Labour Party won 142 seats and supplanted the Liberals as the official opposition. The party indeed was to form two governments in the period 1924 to 1931 and show their fitness to govern.


Liberals


The 1920s saw a dramatic decline in the fortunes of the Liberal Party, which never again took power and was effectively marginalised in British politics. Historians have argued that the decline pre-dated the First World War. However, there are various reasons for its collapse:





•  It was supplanted by the Labour Party as the voice of the working classes, particularly after the 1918 Representation of the People Act.



•  It did not recover from the split as a result of the wartime coalition. During the 1920s its MPs were always divided into those supporting Lloyd George or Asquith and his successors.





Conservatives


The Conservatives saw themselves as the natural party of government, adjusting to changing circumstances and embracing all groups. During the 1920s, their motto was ‘Safety First’, as exemplified by their leader Stanley Baldwin, who offered a reassuring presence and gave an aura of confidence, for example during the 1926 General Strike (see page 20).


First Labour administration, January to October 1924


The first Labour government was a minority administration needing Liberal support. Although it was moderate in its goals, problems manifested themselves:





•  Labour found it difficult to break with the perception that it was specifically a party representing the interests of the industrial working classes. As its major paymaster, the Trades Union Congress (TUC) expected support in industrial disputes. However, during a London transport workers’ strike in March 1924, Prime Minister Ramsay MacDonald declared a state of emergency and was prepared to bring in troops to move essential supplies. Many trade unionists felt betrayed by MacDonald and by Labour.



•  Labour found it difficult to win trust. More conservative elements in society believed the Labour Party and many of its supporters to be covert revolutionaries. The government fell as a result of the Campbell affair. Although a relatively minor issue, this highlighted this lack of trust.







[image: ]


The Campbell affair and the Zinoviev letter


A Communist magazine editor, J.R. Campbell, was accused of incitement to mutiny in one of his articles. When the Labour Attorney General withdrew the charges, Liberals accused the government of being pro-revolution, and withdrew their support. The Labour government resigned.


Shortly afterwards the Conservative-supporting newspaper the Daily Mail published a letter purporting to come from a leading Russian Communist, Zinoviev, advising the Communist Party how to effect a revolution in Britain. Although subsequently shown to be a hoax it did irreparable harm to the Labour Party in the election campaign.
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Second Labour administration, 1929–31


The second Labour administration, again a minority government, was dominated by economic crisis which saw unemployment double and foreign investors lose confidence in the British economy. In the face of the extent of the crisis, MacDonald entered into a coalition with the Conservatives in 1931, forming the National Government. This decision split the Labour Party through the 1930s.
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[image: ] Support or challenge?


Below is a sample exam question which asks how far you agree with a specific statement. Below this are a series of general statements which are relevant to the question. Using your own knowledge and the information on the opposite page, decide whether these statements support or challenge the statement in the question and tick the appropriate box.




To what extent were the Labour governments of 1924 and 1929 to 1931 defeated because they were viewed as political extremists?









	 

	SUPPORT

	CHALLENGE






	Labour’s relationship with trade unions

	 

	 






	Labour’s fitness to govern, e.g. handling of the London transport workers’ strike

	 

	 






	Campbell affair and Zinoviev letter

	 

	 






	Economic problems 1929 to 1931

	 

	 






	Strength of Conservative Party
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[image: ] Delete as applicable


Below are a sample exam question and a paragraph written in answer to this question. Read the paragraph and decide which of the possible options (in bold) is most appropriate. Delete the least appropriate options and complete the paragraph by justifying your selection.




How far did the fortunes of the three main political parties change in the years 1922 to 1931?







[image: ]


The fortunes of all three major political parties changed to a great/fair/limited extent. For example, the Labour Party formed two administrations in 1924 and between 1929 to 1931 although on each occasion it was defeated, first by distrust from those believing it sought revolution and in 1931 from the weight of the economic misfortune. The Liberal Party meanwhile suffered, having split over support for the wartime coalition and losing many of its former supporters to Labour. The Conservatives, however, seemed the natural party of government, remaining in power from 1922 to 1924, 1925 to 1929 and dominating the National Government which emerged in 1931. Indeed the Labour Party itself split on this issue. It could be argued therefore that, of the three, the Conservatives were extremely/moderately/slightly successful because…


___________________________


___________________________
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The National Government, 1931–45



The National Government, born out of economic crisis, continued until the end of the Second World War. Although a coalition, it was dominated by Conservatives and, until 1940, Conservatives controlled most ministerial positions.


Policies, 1931–39


The biggest challenge during this period was to combat the economic depression. The government implemented severe spending cuts (see page 14) and introduced tariffs which it was hoped would protect domestic industry. However, its policies generally were conservative and limited in scope.


Tariffs


The Import Duties Act 1932 introduced a ten per cent tariff on most imports. Attempts to develop Imperial Preference (special trading agreements with countries in the British Empire) had only limited success.


Interest rates


The bank rate was reduced from six to two per cent. This helped stimulate recovery by reducing interest rates on borrowing.


The unemployed


The Unemployment Act 1934 introduced a ‘means test’ (see page 30) for those whose unemployment insurance had run out. While most workers were covered by the 1920 Unemployment Insurance Act, benefits lasted for only 15 weeks per year.


Depressed areas


The Special Areas Act 1934 introduced grants to try to stimulate industrial growth in depressed areas (see page 14).




Table 1.1 National Government Prime Ministers






	Year

	Prime Minister






	1931

	Ramsay MacDonald (retired 1935)






	1932–37

	Stanley Baldwin (retired 1937)






	1937–40

	Neville Chamberlain (resigned 1940)






	1940–45

	Winston Churchill (defeated in 1945 general election)










Public order


In face of threats from extremist groups, the government passed the Public Order Act 1936, banning inflammatory political meetings and the wearing of military-style uniforms.


Rearmament


In the face of the increasingly tense international situation, the government began a policy of rearmament in the later 1930s. This helped to ease the economic difficulties of the 1930s.


These measures had some success as unemployment slowly fell, although it was not until the first year of war that it fell to below 1 million, in large part as a result of conscription.


Extremist measures


Many political extremists favoured more radical measures both to combat the Depression and change British society. On the left Communists were calling for a Russian-style revolution. Many of the right supported fascism. In 1932 for example the British Union of Fascists (BUF) was formed by Sir Oswald Mosley. At its height it had 50,000 members.


Wartime government


The National Government continued during wartime. Its leader, Neville Chamberlain, who had tried tirelessly to appease the German dictator Adolf Hitler, was unsuccessful as a war leader. Following the failure of the British effort to defeat the enemy in Norway, he was replaced by Winston Churchill.


Total war


During the war years, the government controlled most aspects of everyday life, with the whole country being placed on a war footing. This meant conscription, centralised economic planning, censorship, rationing of food and other essential items. People generally accepted this as necessary for victory, and the groundwork was set for continued government involvement in people’s everyday lives in the post-war years.
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[image: ] Eliminate irrelevance      [image: ]


Look at the following sample exam question and a paragraph written in answer to this question. Read the paragraph and identify parts of the paragraph that are not directly relevant to the question. Draw a line through the information that is irrelevant and justify your deletions in the margin.




How far do you agree that the National Government developed successful strategies to tackle the economic crises of the 1930s?
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The National Government developed strategies which were partially successful in tackling the economic crisis of the 1930s. They attempted to protect British industry from foreign competition while favouring trade with the Empire through Imperial Preference. The Import Duties Act 1932 introduced a 10 per cent tariff on most imports. Attempts to develop Imperial Preference had only limited success, however. At home they went on to reduce interest rates in the hope that this would stimulate investment. The Special Areas Act meanwhile was set up to stimulate industrial growth in the depressed areas. Possibly because these measures were only partially successful, the 1930s saw the rise of extremist politics through, for example, the growth of the BUF. Originally the founder Oswald Mosley had been a member of the Labour government.
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[image: ] Simple essay style


Below is a sample exam question. Use your own knowledge and the information on the opposite page to produce a plan for this question. Choose four general points, and provide three pieces of specific information to support each general point. Once you have planned your essay, write the introduction and conclusion for the essay. The introduction should list the points to be discussed in the essay. The conclusion should summarise the key points and justify which point was the most important.




How accurate is it to say that the National Government dealt successfully with the challenges it faced during the years 1931 to 1945?
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Labour government, the rise of consensus politics and political challenge, 1945–79



In July 1945, Labour won a landslide victory in the first general election since 1935.


Post-war consensus


In the period 1945 until the early 1970s, there was a post-war consensus, by which the main parties generally agreed on political principles even if disagreeing on detail. Aspects of this involved:





•  the continuation of centralised economic planning and involvement of government in the economy



•  the continuation of the Welfare State and National Health Service (NHS)



•  the goal of full employment and equal opportunities for all.





The economic problems of the 1970s, however, saw the end of this consensus and the development of more confrontational politics.


Labour government, 1945–51


Controversially, the Labour government nationalised industries such as coal mining, shipbuilding and the railways and introduced a comprehensive Welfare State including the NHS in 1948. But it struggled with the economic problems resulting from the cost of the war. As a result, the government continued with wartime austerity including rationing, which made it very unpopular. The 1951 elections saw a return to Conservative government.


Conservative government, 1951–64


The Conservatives won three elections between 1951 and 1964 in part because the country enjoyed a period of widespread prosperity as Western Europe recovered from war. It saw the growth of the ‘affluent society’: famously the Prime Minister Harold Macmillan told a Conservative Party rally in 1957 that ‘most of our people have never had it so good’.


There were, however, frailties. Britain was losing its credibility as a world power, as exemplified by the humiliation over its invasion of Suez in 1956. The balance of payments continued in deficit, with accompanying pressures on the value of sterling. There were growing numbers of industrial disputes – and economic growth was below that of Britain’s European competitors.




[image: ]


Suez, 1956


The British and French invaded the Suez Canal zone in Egypt after the canal, which belonged to British and French shareholders, was nationalised by the Egyptian ruler Colonel Nasser in 1956. Britain was forced to withdraw after pressure from the USA. The USA opposed the invasion because it saw it as an example of imperialism, or wealthy, comparatively powerful countries acting aggressively towards a weaker one. The episode was seen as a national humiliation for Britain.
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Labour government, 1964–70


Labour won the 1964 election with a small majority of four. Economic problems continued. Its record on these was largely unsuccessful:





•  In the face of continuing balance of payments deficits, Britain had to devalue sterling substantially, by 14 per cent in 1967.



•  Attempts to solve industrial disputes failed (see page 24).





This government was, however, more successful on social matters, embarking on a substantial policy of liberalisation:





•  Comprehensive education saw substantial growth (see page 44).



•  Abortion and homosexuality were legalised in 1967.



•  The death penalty was abolished in 1969.





Conservative government, 1970–74


The government of Edward Heath was committed to less state involvement in the economy and was more critical of the post-war consensus. However, it was dominated by economic problems and industrial unrest, culminating in the ‘three-day week’ of 1973–74.


Labour governments, 1974–79


Economic problems and industrial unrest continued. After 1976 the government began to retrench. The post-war consensus of centralised planning, full employment and a generous Welfare State was over. James Callaghan’s Labour government was brought down in the ‘Winter of Discontent’ of 1978–79 (see page 26). By this time Britain’s economic problems were so great it was often referred to as ‘the sick man of Europe’.
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[image: ] RAG – rate the timeline      [image: ]


Below is a sample exam question and a timeline. Read the question, study the timeline and, using three coloured pens, put a Red, Amber or Green star next to the events to show:






	Red:

	events and policies that have no relevance to the question






	Amber:

	events and policies that have some significance to the question






	Green:

	events and policies that are directly relevant to the question










1  How far do you agree that the post-war consensus was finally ended by economic problems in the 1970s?
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Now repeat the activity with the following questions:





2  How significant were the economic problems of the 1970s in the ending of the post-war consensus?



3  How far did the policies of successive governments change during the period 1945 to 1979?
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[image: ] Spot the mistake      [image: ]


Look at the following sample exam question and a paragraph written in answer to this question. Why does this paragraph not get into level 5? Once you have identified the mistake, rewrite the paragraph so that it displays the qualities of level 5. The mark scheme on page 111 will help you.




How far do you agree that the post-war consensus was the most significant factor in the government of Britain from 1945 to 1970?
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In the period 1945 until the early 1970s, there was a post-war consensus, by which the main parties generally agreed on political principles even if disagreeing on detail. They agreed on the central role of government in planning the economy, the maintenance of the Welfare State and the goal of full employment. However, by the mid 1970s the post-war consensus was under threat because of the economic problems Britain faced. Indeed after the IMF loan in 1976, the Labour government made cutbacks which saw an end to these goals.
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Responding to economic challenges: post-war boom, crisis and recovery, 1918–39



Post-war boom and recession


The end of the war in 1918 was followed by a short-lived economic boom in Britain that ended in a recession in 1920. This was caused by falling demand through the scarcity and high cost of goods.


Recession, 1920–21


By 1921, 2 million workers were unemployed and centres of old industries such as South Wales and Tyneside suffered depression.


Problems with traditional industries


Britain’s industrial wealth had been built on traditional heavy industries such as coal, shipbuilding, iron and steel and textiles. By the 1920s, these were in serious trouble:





•  Markets had been lost during the war and some countries, such as India in the case of textiles, had developed their own industries to meet the scarcity.



•  New competitors emerged, notably the USA, Japan and countries in South America, which were more cost-effective than Britain’s industries.



•  Traditional industries in Britain were outdated and had suffered from under-investment, making them uncompetitive. By 1937, for example, Britain was producing 83,000 tons of steel per year compared with 210,000 tons in the USA and 125,000 tons in Germany.





Attempts to solve economic problems, 1921–39


The main government policies of the inter-war period involved retrenchment or spending cuts.


The Geddes Axe


In 1921 Lloyd George appointed Sir Eric Geddes to implement greater cuts in public expenditure. Geddes recommended £87 million of cuts. Most of these came from the government’s military budget, but the health, welfare and housing budgets were reduced from £205.8 million in 1920–21 to £182.1 million in 1922–23.


Return to the Gold Standard


Chancellor of the Exchequer Winston Churchill returned Britain to the Gold Standard in 1924. The aim was to restore confidence in sterling but the effect was to overvalue it – by as much as ten per cent – and make British exports too expensive. As a result, trade diminished even more. Britain came off the Gold Standard in 1931.


The May Report, 1931


The May Committee set up in July 1931 to report on the economy forecast that, by April 1932, the deficit could be as high as £120 million. It proposed significant cuts such as reductions in the salaries of public sector workers and welfare benefits. It was the response to this report which led to the fall of the second Labour government. Its successor, the National Government, implemented ten per cent cuts in salaries across the board, including welfare.


However, reductions in income led to reductions in consumption which impeded economic recovery.


Careful reform


The National Government of the 1930s responded carefully with limited measures such as the Special Areas Act (see page 10). The prevalent thinking was that the economy would eventually right itself. By 1934, some prosperity was returning particularly in areas of newer industries such as the south-east and Midlands. As prices fell, those in employment enjoyed prosperity during the inter-war period. The economic depression was regional in nature, with the centres of old industries being by far the worst affected. However, it took rearmament to bring significant improvements to the economy.
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New industries


Newer industries such as car manufacture and household appliances were developing using modern methods of production such as the assembly line. They were focused in areas such as the south-east and the Midlands where much of their domestic market was situated.
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[image: ] Complete the paragraph


Look at the following sample exam question and a paragraph written in answer to this question. The paragraph contains a point and specific examples, but lacks a concluding analytical link back to the question. Complete the paragraph adding this link in the space provided.




How far did the successive governments solve the economic problems that faced Britain between 1918 and 1939?
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